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QID:1-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

g vy # far o e # @ oy g
(?) & TUE W HE qE T A gRT

3| 4 4 ?
5| 2 6 | 60
8 1 5 | 40

Options:

1) 42

2)48

3) 44

4) 168

Correct Answer: 48
Candidate Answer: 168

QID:2-
How many squares are there in the given figure?

& T e # fraer oo ¥

Options:
1)4

2)5
3)8

4)9
Correct Answer: 5
Candidate Answer: 8




QID: 3-
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘C’ can
be represented by 11, 67, etc., and ‘E’ can be represented by 22, 58, etc.
Similarly, you have lo identily the sel Tor the word “FOLK"”,

Teh gleg hel Uh HEA-WIE gHT T 7 §, S f6 foetl & @
et von # R wrar ¥ Rwedl A B sre dwn-wds st & & alf
T gRiw e § otar T Bu ore o ameygt & ¥ smeugl & v 3
Ui & TEAT 0 ¥ 4 § 3T ameggdi A 5 ¥ 91 3 Hegg ¥ uH 3R
T Upel O U AT ag # TaEN T SR GUR ST Adar ol
3EIEAOT & folw “C7 i 11, 67, I GRT SRIAT S ehell & o ‘B’ =i 22,
58, 371fe ERT ZATOT o Tl &1 38 oRe ¥ MU wd # QU e
“FOLK” & fw wogp @ upamear §1

Matrix-| Matrix-ll

g gl
0|1(2|3]4 5(6|7(8]|9
O|A|K|S|Y|D S|B|L|IV|E|O
1T|FIC|M|U| B G|J|T[C|M W
2|N|H|E|O|W 7TIHIR[A|K|U
J|TIPJ]|G|Q S|F|PlZ]1 |8
4 X|VIR|L]I gID|N[X|G|Q

Options:
1) 10, 59, 56, 01

2)85,59,43,79
3) 10, 23,43, 79

4) 85,24, 43,78

Correct Answer: 10, 59, 56, 01

Candidate Answer: 10, 59, 56, 01

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& T2 3AT Al # F 3H W AP A gAT
om & vy ampld BfT &

[




Options:
1)

AN

2)

3)

4)

Correct Answer:

AN

Y

Candidate Answer:

N
AN

Y

QID:5-
Which answer figure will complete the pattern in the
guestion figure?

FT W IO AFA TH AHA & UAeT df g
TLAN?




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 6 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofg meF 2T @ AB Y@ W T@m =, & A TR
TaT el # W Sl W Ay W anea
T uiatase grefi?

\v:E




Options:

1)

2)

3)

4)

| [ 2] D

Correct Answer:

Y

Candidate Answer:

<«

QID:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when

opened?

der & wy angtoar A REm sgER Fee @
HizehT Tea aUT Wield & a1 g% 7O I TGS

Sar s geme

4 ~,
vy
’ ~

/| |

I S e e e e e e s I o)



Options:
1)

N

W

»

4] [H] O] [

Correct Answer:

Candidate Answer:

B

QID : 8 - If 'c' means '+', 'd' means '+', 'e' means '-' and 'f' means 'x', then
24c3f4d6=?
Iy ‘¢ T 372 '+, d T 31 4+, et T 30T AT 'f & 31 X gl ar

24c3f4d6=?
Options:

1) 32

2)30

3) 38

4) 28

Correct Answer: 38
Candidate Answer: 38

QID:9-1f9%6%5% 1=5619and3% 4% 1% 6 =1463,then1% 2% 5% 7 =?

9% 6% 5% 1=5619a0UT3%4%1%6=14638, AWT1%2%5%7="?
Options:

1) 1725

2) 5271

3) 2571

4) 7125

Correct Answer: 5271

Candidate Answer: 5271




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Boiled
2. Brinjal
3. Boring
4, Banged
5. Brown

TAFATITEIT Uea] T AGHIL H 3T ATl 5 AR o |

1. Boiled
2. Brinjal
3. Boring
4, Banged
5. Brown

Options:
1) 43152
2) 41325
3) 43125

4) 41352
Correct Answer: 41325
Candidate Answer: 41325

QID : 11 - In the following question,select the missing number from the given alternatives.
68, 65, 60, 53,44, ?
Tefafla vea & R a1 Reredt # & oed 3iw w1 Ffow

68, 65, 60, 53, 44, ?
Options:

1)31

2)37

3)35

4) 33

Correct Answer: 33
Candidate Answer: 33

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AZGCXEV,GT,??
T g foram I §, Foree | U U o &1 T 1w et & & a5 we e giaw, St 3gsmA @ O

A, ZCXEVGT??
Options:
1)31S

2)KS
3)IR

4) KR
Correct Answer: IR
Candidate Answer: IR

QID : 13 - In the following question, select the odd word pair from the given alternatives.

Prtafa year & f&v arw faemed! & & fawa 2reg goa &1 giw)
Options:

1) Up : Down

IR : AR

2) Day : Night

et : TaT

3) Happy : Smile

gl : g

4) Open : Close

e : §




Correct Answer: Happy : Smile
g : g

Candidate Answer: Happy : Smile
g2l : g4

QID : 14 - In the following question, select the odd number pair from the given alternatives.

fRrafaf@d v ¥ v v Rwedt & & v dear o w gfav)
Options:
1)3:9

2)5:25
3)6:36

4)8:63
Correct Answer: 8 : 63
Candidate Answer: 8 : 63

QID : 15 - In the following question, select the odd letters from the given alternatives.

Teafofla vea & o a0 Reredt # § vt sart #t gfw

Options:
1) ou

2) Al
3) EI

4) 10
Correct Answer: Al
Candidate Answer: Al

QID : 16 - Identify the diagram that best represents the relationship among the given classes.
Cap, Pencil, Apple

aE 3@ AT 3 A T 97w it 3 ofrer & Heier o wEY THAwor e ¥




Correct Answer:

QO
O

Candidate Answer:

O

e

QID : 17 - In the following question, select the related word from the given alternatives.

Writer : Pen : : Plumber : ?
rfaf@r year & few arv faered! & & Fdfere orea I giav|

G : FAH : & TS ¢ ?

Options:

1) Screwdriver

Jaed

2) Wrench

Re=r

3) Saw

3mr

4) None of these

ST O HIS e

Correct Answer: Wrench

=

Candidate Answer: Wrench

R

QID : 18 - In the following question, select the related number from the given alternatives.
14:35::18:7?

rafafee w7 4w a0 et 7 & Hafe e 1 g

14:35::18:7?

Options:

1) 55

2)40

3)45

4) 50
Correct Answer: 45
Candidate Answer: 45

QID : 19 - In the following question, select the related letters from the given alternatives.
XJ:AM::1S:?

TReAfaf@d wea & R arv fawedt # @ geiftrd 3Rt i gfaw

XJ:AM::1IS:?

Options:

1) LU

2) LV

3)KU

4) kv
Correct Answer: LV
Candidate Answer: LV




QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

CORPORATION
Tefored Geedl 3 & a5 Ueg 9few St 3T 1T 2eg & 78T T T e a1el SetrdT o el |

CORPORATION

Options:
1) PORT

2) CRAIN
3) TRAIN

4) SPORT
Correct Answer: SPORT
Candidate Answer: SPORT

QID : 21 - S walks 8 km towards east. He turns right and walks 6 km. He turns right and walks 8 km. How far (in km) is he from his starting point?

S qd %1 31X 8 oA, <rercll &1 9 it 3R FST & 12T 6 TRl <rerelm &1 o aril 3R g & T 8 RN, =eich §1 9 39 3R g A et g (FR.air. #) W g?
Options:

1) 14

2) 10

3)8

4)6
Correct Answer: 6
Candidate Answer: 6

QID : 22 - | is 3 years older to M. M is 6 years younger to N. N is 4 years older to Q. O is 7 years younger to P. Who is the youngest?

LMA3aSaegrgIM, NS 6a¥oler&IN, O 4a¥ Tl O, P ¥ 7 a¥ Bler &1 T Bler Fi &7
Options:

1)0

2) N

3)M

4L
Correct Answer: M
Candidate Answer: M

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All cups are chairs.
I1. All chairs are tables.

Conclusions:
I. Some tables are cups.
I1. Some chairs are tables.

e T 10 99T 37 T FUA 3R 3T 16 37 FAeAl R IMRT T v &w a1 &, gronifen 3o031 Aoy A1 aeat & fiestar g ek &1 vl oy o 3t A
TuiRa o R o sl & e, e e syat F smur ® g £

S
L gt &y FiAT 8
I1. wef TRt AT €1

s
L. $T AT 7§
IL. Fo FRa AT 51

I s s i S S P e A T e s T S N M ) [/ |



Options:

1) Only conclusion (I) follows.

Fael foss (1) T8 &1

2) Only conclusion (II) follows.

Frael fasy (1) Ter &)

3) Both conclusion follow.

2t g forsh we €

4) Neither conclusion (I) nor conclusion (II) follows.
= ar fassy (1) =1 & fasey (11) T &

Correct Answer: Both conclusion follow.

¥t & sy T €

Candidate Answer: Only conclusion (II) follows.

Faol TSRy (11) TE &1

QID : 24 - In a certain code language, "MOVIE" is written as "LPUJID". How is "CINEMA" written in that code language?

T fARIST S HATST #, "MOVIE" & "LPUID" forar Sitdr & | 39 HIS AT # "CINEMA" &I fhd SR for@r sireen?

Options:
1) BIMFLB

2) BIMFLZ
3) BINFLZ

4) BIMDLB
Correct Answer: BIMFLB
Candidate Answer: BIMFLB

QID : 25 - In a certain code language, "SOME" is written as "10645" and "BOYS" is written as "26710". How is "RUNS" written in that code language?
T fARASE Iz AW &, "SOME" &l "10645" T2 "BOYS" &l "26710" forar S1dT g $6 his ST # "RUNS" &' ford YR forar Sireem?

Options:
1) 93510

2) 93501
3) 93511

4) 92510
Correct Answer: 93510
Candidate Answer: 93510

QID : 26 - What is the value of 11 + 12 + 13 + ...cavnee + 35?

11+ 12+ 13 + civveennn + 35 &7 AT F41 &2

Options:
1) 575

2) 630

3) 585

4) 595

Correct Answer: 575

Candidate Answer: 630




QID : 27 - What is the value of 38 + 19 x 3 + 5?

38+ 19x3 + 5 & AT FAT§?

Options:
1) 11

2)10

3)13

4)17

Correct Answer: 11

Candidate Answer: 11

QID : 28 - What is the Highest Common Factor of 3/4 and 12/13?

3/4 G2 12/13 & HAgedd FATIGAS F4T &7

Options:
1) 42795

2) 19054

3) 42887

4) 41426

Correct Answer: 19054

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - If 347P is divisible by 9, then what is the value of P?

It 347P, 9 ¥ Aanfaa &, AT P T AT FAT &2




Options:
1)2

2)3

3)4

47

Correct Answer: 4

Candidate Answer: 4

QID : 30 - What is the value of (37 + 23)2 — (37 — 23)2?
(37 + 23)2 — (37 — 23)2 & AW FAT §?

Options:
1) 1908

2) 1602

3) 1702

4) 3404

Correct Answer: 3404

Candidate Answer: 3404

QID : 31 - Which fraction among 3/11, 4/7 and 5/8 is the smallest?

3/11, 4/7 G 5/8 7 FieT &1 fAeeT BleT 82




Options:
1) 3/11

2) 4/7

3) 5/8

4) All are equal
FHT | E

Correct Answer: 3/11

Candidate Answer: 3/11

QID : 32 - Three taps A, B and C can fill a tank in 27, 36 and 54 minutes respectively. If all the three taps are opened, then how much time (in minutes) it will take
to completely fill the tank?

cieT 57er A, B T C T T 3l #11 & FHA: 27, 36 AT 54 Heie o &1 IS el oty a1t et 4T 10, & Shr 1 0 3 31 Fobcqant @oter (Ftet &) w@em?

Options:
1) 16

2)12

3) 10

4)15

Correct Answer: 12

Candidate Answer: 12

QID : 33 - Two pipes X and Y can fill a cistern in 6 hours and 10 hours respectively. Pipe Z can empty the tank in 4 hours. If all the three pipes are open then in
how many hours the cistern will be full?

ST UIST X T Y ToRey ST &l sheAel: 6 6 AT 10 6 F R ohd §1 IS Z H T 4 € H Wiell Y TehdlT &1 Tfe AT 159t 1 Gier f&T ST §, af S fohey 8¢ 7 o)
Suetr?




Options:
1) 30

2) 45

3) 50

4) 60

Correct Answer: 60

Candidate Answer: 45

QID : 34 - The side of an equilateral triangle is equal to the diagonal of the square. If the side of the square is 10 cm, then what is the area of the equilateral
triangle?

ngﬁga%ragmaﬁé;ﬁm‘réswal I @t i o 10 WAt %,#ruﬂmgﬁaﬁrﬂaﬁww%?

Options:
1) 50v2

2) 50v3

3) 100v2

4) 100V3

Correct Answer: 50V3

Candidate Answer: 50V3

QID : 35 - Marked price of an article is Rs 7600 and its selling price is Rs 5472. What is discount percentage?

ek G T 3iTehed Hed 7600 T & TUT 3HHI fasha Hed 5472 T 81 T 1 Tlcre 41 &2




Options:
1) 34

2) 28

3)31

4) 30

Correct Answer: 28

Candidate Answer: 28

QID : 36 - Selling price of an article is Rs 4290. If 34% discount is given, then what is the marked price (in Rs)?
T g T ORI {ed 4290 T ¥ I 34% g & 1S §, A i 7o (3 H) F e

Options:
1) 6800

2) 7200

3) 6300

4) 6500

Correct Answer: 6500

Candidate Answer: 6500

QID : 37 - Total runs scored by three batsmen x, y and z are 1584. Ratio of runs scored by xandyis 4 : 3 and y and zis 5 : 3. How many runs are scored by x?

<o SeelaTsll X, y T z SART §ATC 97T el T 1584 &1 X TUTy SERT ST Toil 7 9Tl 4 : 3§ AATY AU 27 5 2 3 §| X GFRT Tkl & §=ATC arw?




Options:
1) 742

2) 614

3) 516

4) 720

Correct Answer: 720

Candidate Answer: 720

QID : 38 - Monthly income of Rajesh and Mahesh is in ratio of 9 : 13 respectively. The difference in their income is Rs 20000. What will be the monthly income of
Mahesh?

TSI T HER T AT M1 hT AT hal: 9 & 13 §| 3e7eht 3T & 20000 & T 31X &1 HEA T AIEh 3T 41 B19M?

Options:
1) 45000

2) 65000

3) 78000

4) 54000

Correct Answer: 65000

Candidate Answer: 65000

QID : 39 - Average weight of a group of 9 students is 43 kg. When a new student joins the group, the average weight of the group becomes 45 kg. What is the
weight (in kg) of the new student?

9 TNt & v wopg F 3 AR 43 . 1 5 va o et wegg # anfdrer & e €, o w9g T Jiea AR 45 6.3, g S §)1 v et v st (RR.am
;) FaTE?




Options:
1) 65

2) 59

3) 63

4)61

Correct Answer: 63

Candidate Answer: 63

QID : 40 - If 0.8 x cost price = 0.6 x selling price, the what is the profit percentage?

7 0.8 X 5T HeT = 0.6 x [T Ao &, o ey Ffcrera = g2

Options:
1) 33.33

2)25

3) 20

4) 10

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 41 - A dealer claims to sell his goods at cost price but uses a weight of 80 gm for 100 gm. What is the profit percentage for the dealer?

T GHITIGR AT aEG3TT T 5l e d I oot T STT el § ool a6 100 I & aeel 80 ITH % dofed T T T & | GHIAGR T o1t Sfcrered 77 82




Options:
1) 12,5

2)10

3) 20

4) 25

Correct Answer: 25

Candidate Answer: 25

QID : 42 - If the price of sugar is increased by 10%, then by how much percent consumption should be reduced so that the expenditure remains the same?

At Il & Aed 7 10% HT i 8 el §, o 3TR @ 7 fohetat aferera i wft i Sre & @ 7 #ig 9ftads =1 812

Options:
1) 9.09

2) 10

3) 12,5

4)20

Correct Answer: 9.09

Candidate Answer: 9.09

QID : 43 - If the radius of a circle is decreased by 30%, then what is the decrease in the area of the circle?

afe el geot & B # 30% i w1 S, A 35 arathel H fhcey uferd i war g




Options:
1)51

2) 60

3) 69

4) 30

Correct Answer: 51

Candidate Answer: 30

QID : 44 - Kamal covers 4/5 of the total distance by train and the remaining 15 km by bus. What is his total journey (in km)?

T 3T el ATHT T 4/5 $TT TCHTSN ART o el &1 A 15 .38, it gt a5 S oy o el | 39ehr Foor AT (o8, 1) ka2

Options:
1) 50

2)75

3) 85

4)35

Correct Answer: 75

Candidate Answer: 75

QID : 45 - A man can row 12 km/hr in still water. If the speed of the current is 3 km/hr, he takes 4 hours more in upstream than in the downstream. What is the
distance (in km)?

ol STel & ek =i v arfay 12 fF.#./eer 81 AT R & A 3 TR0 /eieT &, ORI & Hefehel 1A 7 o & S # TSIl WHd o91ell §, 36A 4 6 31Teh Had URT &
sifcrger e 3 Saeit & g o Tt 3 were €1 gl (R /) s g2




Options:
1) 30

2) 45

3) 60

4) 90

Correct Answer: 90

Candidate Answer: 90

QID : 46 - A sum amounts to Rs 1210 in 2 years when invested at compound interest. If principal is Rs 1000, then what is the rate of interest (in %)?

TF T TR a7t T I & § 2 a9 # 1210 T &7 el §1 I T 1000 § &, o saret &% (% F) 7w grefr?

Options:
1) 10

2)20

3) 15

a)12

Correct Answer: 10

Candidate Answer: 10




QID: 47 -
The table given below shows cost of joumey (in Rs)
from Delhi to 4 different towns on 4 different trains.

R & 9 Aot A 4 Rfdea oeniEe W e @
4 e el 6 O F T (T A) o ST 9 &

Towns | Train1 Train 2 Train 3 Train 4

AT | YoEmEl 1 | IS 2 | YIemEt 3 | IeemE 4

4300 3100 4000 6000

4500 3300 3900 6300

4800 2600 4200 5600

o O|w| >

4700 3200 3600 5700

What is average cost (in Rs) of journey to Town A?
IEX A T &1 AT & 3Tad o (3 H) Far g?

Options:
1) 4400

2) 4350

3) 4150

4) 4200

Correct Answer: 4350

Candidate Answer: 4350




QID: 48 -
The table given below shows cost of joumey (in Rs)
from Delhi to 4 different towns on 4 different frains.

R & 9 Aot A 4 Rfdea oeniEe W e @
4 e el Y T F ¥ (T H) @ e T E

Towns | Train1 Train 2 Train 3 Train 4

A | TN 1 | IAMET 2 | IS 3 | IeAemEN 4
4300 3100 4000 6000
4500 3300 3900 6300
4800 2600 4200 5600
4700 3200 3600 5700

o O|w| >

Which of the following has the least cost?

F=ofaa # @ raer g Tea FA §?

Options:
1) Train 2to A

TEME 2T A

2) Train 1to A

S 1§ A

3) Train 2to C

JTEME 28 C

4)Train1to B

YeEmsy 19 B

Correct Answer: Train 2 to C
TerEmEr 28 C

Candidate Answer: Train 2 to C

JeEmE 2/ C

I s s i S S P e A T e s T S N M ) [/



QID: 49 -
The table given below shows cost of joumey (in Rs)
from Delhi to 4 different towns on 4 different frains.

R & 9 Aot A 4 Rfdea oeniEe W e @
4 e el Y T F ¥ (T H) @ e T E

Towns | Train1 Train 2 Train 3 Train 4

AT | YoEmEl 1 | IS 2 | YIemEt 3 | IeemE 4

A 4300 3100 4000 6000
B 4500 3300 3900 6300
C 4800 2600 4200 5600
D 4700 3200 3600 5700

What is total least cost (in Rs) of Journey from Delhi to town A and Delhi to town D?

el & 26< A T el § 2re¥ D &1 AT &7 el Haidt T &4 (3 H) F47 87

Options:
1) 6300

2) 5700

3) 6400

4) 6600

Correct Answer: 6300

Candidate Answer: 6300

I s s i S S P e A T e s T S N M ) [/



QID: 50 -
The table given below shows cost of joumey (in Rs)
from Delhi to 4 different towns on 4 different trains.

R & 9 Aot A 4 Rfdea oeniEe W e @
4 e el Y T F ¥ (T H) @ e T E

Towns | Train1 Train 2 Train 3 Train 4

A | TN 1 | IAMET 2 | IS 3 | IeAemEN 4
4300 3100 4000 6000
4500 3300 3900 6300
4800 2600 4200 5600
4700 3200 3600 5700

o O|w| >

What will be the maximum cost (in Rs) of travelling from Delhi to the four towns?
ool A TRT el de ITET &1 3Whce = (& &) Fr gen?

Options:
1) 23600

2) 22700

3) 24500

4) 21900

Correct Answer: 23600

Candidate Answer: 23600

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Scientists see the evidence (1)/ of early life in (2)/ ancient rocks. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 4
Candidate Answer: 1

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Before you finalise (1)/ any of thenf e / |



Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: 3

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct Iternative out of the four and indicate
it by selecting the appropriate option.

Aashish tried to smoking, but did not succeed.

Options:
1) get away

2) put out
3) give up

4) do away
Correct Answer: give up
Candidate Answer: [ NOT ANSWERED ]

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Ashina has invited some of her friends coffee.

Options:

1)on

2) for

3)to

4) at

Correct Answer: for
Candidate Answer: on

QID : 55 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.
Amplify

Options:
1) Boost

2) Contract
3) Curtail

4) Shorten
Correct Answer: Boost
Candidate Answer: Boost

QID : 56 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Casual

Options:
1) Planned

2) Occasional
3) Deliberate

4) Serious
Correct Answer: Occasional
Candidate Answer: Occasional




QID : 57 - In the following question, out of the give four alternatives, select the one which best expresses the meaning of the given word.

Insane

Options:
1) Reasonable

2) Healthy
3) Crazy

4) Balanced
Correct Answer: Crazy
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Hinder

Options:
1) Arrest

2) Aid
3) Check

4) Curb
Correct Answer: Aid
Candidate Answer: Arrest

QID : 59 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Provident

Options:
1) Wasteful

2) Saving
3) Cautious

4) Prepared
Correct Answer: Wasteful
Candidate Answer: Wasteful

QID : 60 - In the following question, out of the give four alternatives, select the one which is opposite in meaning of the given word.

Subtle

Options:
1) Fine

2) Implied
3) Indirect

4) Harsh
Correct Answer: Harsh
Candidate Answer: [ NOT ANSWERED ]

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Ill at ease

Options:
1) To be uncomfortable

2) To be in fashion
3) To be in a puzzling state

4) To be in danger
Correct Answer: To be uncomfortphia -




QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Get the upper hand

Options:

1) To revenge

2) To start to go

3) To take risk

4) To get an advantage

Correct Answer: To get an advantage
Candidate Answer: To start to go

QID : 63 - Improve the bracketed part of the sentence.

Today is the (original day) to complete this, after it you won't be able to do so.

Options:

1) last day

2) first day

3) second day

4) No improvement

Correct Answer: last day
Candidate Answer: last day

QID : 64 - Improve the bracketed part of the sentence.

(Attention) is better than cure.

Options:
1) Examination

2) Prevention
3) Creation

4) No improvement
Correct Answer: Prevention
Candidate Answer: Prevention

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science of writing and compiling a dictionary

Options:
1) Calligraphy

2) Lexicography
3) Autobiography

4) Bibliography
Correct Answer: Lexicography
Candidate Answer: Lexicography

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Science of the constitution of the whole universe

Options:
1) Cosmopolitan

2) Chronicle
3) Cosmography

4) Connoisseur
Correct Answer: Cosmography
Candidate Answer: Cosmography

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
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Options:
1) Challing

2) Challenge
3) Challeng

4) Chaillenge
Correct Answer: Challenge
Candidate Answer: Challenge

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:
1) Diagnose

2) Daignose
3) Diagnause

4) Diagnuase
Correct Answer: Diagnose
Candidate Answer: Diagnause

QID : 69 - Rearrange the parts of the sentence in correct order.

Good books

P: man in various

Q: have always helped
R: spheres of life

Options:
1) QPR

2) RPQ
3) RQP

4) QRP
Correct Answer: QPR
Candidate Answer: QPR

QID : 70 - Rearrange the parts of the sentence in correct order.

Thereis a

P: in doing one’s work

Q: honestly and efficiently
R: sense of joy

Options:
1) PQR

2) QRP
3) RPQ

4) QPR
Correct Answer: RPQ
Candidate Answer: QRP

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

is everything which we do in the right way in right time. It leads on the right path. We all follow various types of discipline in our lives.
There are many like we wake up in the early morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have
, go to school in uniform at right time, etc all are discipline.

is everything




Options:
1) Religion

2) Relation
3) Discipline

4) Origin
Correct Answer: Discipline
Candidate Answer: Discipline

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

is everything which we do in the right way in right time. It leads on the right path. We all follow various types of discipline in our lives.
There are many like we wake up in the early morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have
, go to school in uniform at right time, etc all are discipline.

It leads on the right path.

Options:
1) us

2) you
3) them

4) all
Correct Answer: us
Candidate Answer: us

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

is everything which we do in the right way in right time. It [eads on the right path. We all follow various types of discipline in our lives.
There are many like we wake up in the early morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have
, o to school in uniform at right time, etc all are discipline.

types of discipline in our lives.

Options:
1) boring

2) daily
3) caring

4) daring
Correct Answer: daily
Candidate Answer: daily

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

is everything which we do in the right way in right time. It leads on the right path. We all follow various types of discipline in our lives.
There are many like we wake up in the early morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have
, go to school in uniform at right time, etc all are discipline.

There are many like we wake

Options:
1) exceptions

2) citations
3) creations

4) examples
Correct Answer: examples
Candidate Answer: examples
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QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

is everything which we do in the right way in right time. It leads on the right path. We all follow various types of discipline in our lives.
There are many like we wake up in the early morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have
, go to school in uniform at right time, etc all are discipline.

take ; go to school in uniform at right time, etc

Options:
1) lunch

2) breakfast
3) dinner

4) snacks
Correct Answer: breakfast
Candidate Answer: breakfast

QID : 76 - A drill machine in the hands of a plumber is what type of a good?

T ToleR & Tt 7 T 3o Aelier Foney ot S aeq 87
Options:

1) Consumer

3qHIFAT

2) Costly

wigafr

3) Cheap

aEdr

4) Intermediary

AT

Correct Answer: Consumer

STHIFAT

Candidate Answer: Intermediary

megadr

QID : 77 - According to Indian constitution, government has how many organs?

AR HAUTET & TR TR & fehcat 31a1 82
Options:

1) One

Tah

2) Two

ar

3) Three

GiGH

4) Four

Gy

Correct Answer: Three

e

Candidate Answer: Two

ar

QID : 78 - How many fundamental rights are there in Indian Constitution?

R TigersT & o= #wifos fter &2

Options:
1) 10

2)8
3)6

4)4
Correct Answer: 6
Candidate Answer: 6




QID : 79 - Under whose presidentship fight for Purna Swaraj resolution was passed?

ToREERT 3TETRTAT # YOt FaToT T TSTS T SECa UTRT fohal IT2T?
Options:

1) Mahatma Gandhi

HETCHAT el

2) Md. Ali Jinnah

Y. 37 ST

3) Subhash Chandra Bose

G g, S

4) Jawahar Lal Nehru

ST el 8T

Correct Answer: Jawahar Lal Nehru
STATEL oTel Ag%

Candidate Answer: Md. Ali Jinnah
AL, 376l et

QID : 80 - Whose descendants were the Mughals from their father’s side?

39T AT T 3N & ATl fohaeh deret A?
Options:

1) Timur

feae

2) Genghis Khan

I @@=

3) Sher Shah Suri

AT 2TE T

4) None of these

5T § IS A

Correct Answer: Timur

IGE:cy

>

Candidate Answer: Sher Shah Suri
AT aE T

QID : 81 - Qur solar system consists of how many planets?

FHRT B FSeT ety Tl T ST §3T &2

Options:
1)8

2)10
3)9

4)7
Correct Answer: 8
Candidate Answer: 8

QID : 82 - Which is the highest mountain peak on Earth?

AT I FeH FreT T RIER HleT @82
Options:

1) Mauna Kea

Tl Y

2) Mount Everest

HAT3C TaEeT

3) Kangchenjunga

e STET

4) Makalu

HeTel

2
Correct Answer: Mount Everest
HI3C TaEe
Candidate Answer: Mount Everest

HAT3E TaRET




QID : 83 - If the stomach did not produce any hydrochloric acid, which enzyme will not function?

e 383 7 el off FTSSFAIRS 31FeT T 3cUET 1 &) o FlA-TT TTSH HI AT HYI?
Options:

1) Ptyalin

[SEEC

2) Rennin

e

3) Pepsin

e

4) Lipase

e

Correct Answer: Pepsin

after

Candidate Answer: Pepsin

T

QID : 84 - Smaller roots coming out of main root is called as .

AT Sg § SIET 301 alell ST SIS &l hgd &
Options:

1) Tap root

I 75

2) Lateral root

1Rd 515

3) Fibrous root

WER 515

4) Ring root

HHATIGR 518

Correct Answer: Lateral root
urRd o1

Candidate Answer: Ring root
HATIGR 515

QID : 85 - Both erythrocytes and leucocytes are formed in the )

wiRiraTsew 3N cg@EEca gl _ - H el
Options:

1) Bone marrow

HaaT

2) Thymus

AgH T

3) Arterial walls

AT I SaRT

4) Lymph nodes

EGIEIEE)

Correct Answer: Bone marrow
HaalT

Candidate Answer: Bone marrow
Haall

QID : 86 - Electricians use rubber gloves while working because

SOFEITRAAT FHI FI TAL &R o GEATAT T TR HA & Fifh:
Options:

1) rubber is an insulator

T T FTeleh &

2) rubber is a good conductor

T Ueh GaTolh §

3) wearing rubber gloves is mandatory

T eFd=

4) rubber makes work easy

TER T AT FAT §

Correct Answer: rubber is an insulator

T&R U FHATEF &




Candidate Answer: rubber is an insulator
TR T Frelleleh &

QID : 87 - If a pendulum is allowed to oscillate in vacuum, its time period will .

g v oot aTd & Sieled T § o ST qeAgmare
Options:

1) decreases

e ST §

2) Increases

G ST &

3) remains same

aRafdd e &

4) first increases and then decreases
TEe FEe & T R weddr §

Correct Answer: decreases

e ST &

Candidate Answer: decreases

e ST §

QID : 88 - Which format of email address is correct?

RS UFH T BT TT IR Y &2
Options:

1) xyz@website@co.in

2) xyz.website@co.in

3) xyz@website.co.in

4) xyz.website.co.in
Correct Answer: xyz@website.co.in
Candidate Answer: xyz.website.co.in

QID : 89 - The atomic number of an element is determined by A

U Ted HT WA HEA ___ H e gl d
Options:

1) adding the number of electrons & protons in one atom
TTHTO] 3 SOFEleT TUT Wl T Wt o Sis

2) the number of neutrons in one atom

AT H Fgle i FEaAr

3) the valency of the element

e & GASTHaT

4) the number of protons in one atom

A H SIS Fr HEar

Correct Answer: the number of protons in one atom
GHTY] & SIS hr g

Candidate Answer: adding the number of electrons & protons in one atom
AT H Folagle a2l Wciel 1 &l & Siig

QID : 90 - The number of electrons in the outer shell of the most stable or inert atoms is .

watfte R a1 fafSr aRenmogait i aredt et 3 serwgial i aear g &

Options:
1)1

2)5
3)3

4)8
Correct Answer: 8
Candidate Answer: 1




QID : 91 - What are the dissolved and suspended impurities in sewage called?

e T # G gU AT AT HEe Hr F1 Fecl 7
Options:

1) Impurities

Aqged

2) Waste

HYRIST

3) Solids

(EE]

4) Contaminants
Heuh
Correct Answer: Contaminants

Sen

Candidate Answer: Contaminants

GENED
QID : 92 - Which among the following is not a category of loan under Pradhan Mantri Mudra Yojana?

AT 3 & PloT TeITeToAT AT 2ot & Heralel H0T &7 a7 T8 §2
Options:

1) Shishu

Ry

2) Vayask

Eprea

3) Tarun

qe0T

4) Kishore

[ERIcy

Correct Answer: Vayask
Epesa

Candidate Answer: Vayask
qIqTh

QID : 93 - Who among the following discovered laws of planetary motion?

frrfaf@a & O foreer 71gl &1 a1far & gt i @rer &1 4i?
Options:

1) J. Kepler

. HTR

2) Albert Einstein

Ve JgECTSA

3) N. Copernicus

T, PR AR

4) Otto Blathy

3EY sofef

Correct Answer: J. Kepler

. HTR

Candidate Answer: J. Kepler

ST, FTeR

QID : 94 - Which country won the 2017 ICC Champions Trophy?

o ger = 2017 ST Siw grbr sid?
Options:

1) India

HER

2) England

LIS

3) Pakistan

oiferEdreT

4) Australia

siteeforr

Correct Answer: Pakistan

EIETSICH




Candidate Answer: Australia

freeferar
QID : 95 - Phulkari, Kantha and Chikankari are famous forms of i

Bohrl, FdT, RPARRI & 9ilg o7 &
Options:

1) Dance

T

2) Painting

iy

3) Music

ha

4) Embroidery

i

Correct Answer: Embroidery

i

Candidate Answer: Embroidery

i

QID : 96 - Who is the winner of UNESCO Peace Prize 2017?

FeTEaT il WERR 2017 & Fstar et §2
Options:

1) Bollywood Actor Aamir Khan

aielgs ¥ Hfetar AT @t

2) Italy’'s Mayor Glusi Nicolini

Seoll T AT o shreniferetr

3) Writer David Grossman

o 3 AT

4) UK Minister Priti Patel

7, . 1 MY

Correct Answer: Italy’s Mayor Glusi Nicolini
ST S AT To T FAeRITerAT

Candidate Answer: Italy’s Mayor Glusi Nicolini

Feoll T AT ol sArepiferatr

QID : 97 - Who is the author of the book named "Gods of Antarctica"?

Options:

1) Vishal Sikka

faermer ferenr

2) Tarun Khanna

BT Woall

3) Yashwardhan Shukla

FF I

4) Amitav Ghosh

3MTHAE "9y

Correct Answer: Yashwardhan Shukla
e Y

Candidate Answer: Amitav Ghosh

3ifAdE By

QID : 98 - The Mekong Ganga Cooperation is an intiative by India and how many other countries?

HEHIT I TEART 7R H foraet 37 20 F @R Th IgeT 2

Options:
1)3

2)5
3)7

4)11

Carrect Answaer: §




Candidate Answer: 3

QID : 99 - Which among the following Indian state does not share boundary with Pakistan?

ATl # & R ST HisT T AT TIThEdleT h AT TIAT TS T6T Hicr?
Options:

1) Punjab

EEic)

2) Rajasthan

AT

3) Gujrat

B:I_FR'I?I'

4) Maharashtra

HAERTSE

Correct Answer: Maharashtra
HIERTSE

Candidate Answer: Maharashtra
HIERTSE

QID : 100 - What is the full form of GDP?

Sir 31 o &1 faeaTRd §9 &1 gl ?
Options:

1) Gross Domestic Product

HHA Tl 3G

2) Goods Domestic Product

HTS B 391G

3) Goods Dynamic Product

4) None of these

goTd { B e

Correct Answer: Gross Domestic Product
Hehel B 3G

Candidate Answer: Gross Domestic Product
Hehel TR 3cdTE




